7. An investment of $8000 at 12% per annum compounded quarterly is to be made for 5
yaars. Use the spreadsheet below o answer the following questions: Answer on the

spreadsheet.
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8 1 =B1 =B5 =B8*C9o =Bg + D8 =E9-B9
10 |=A9+1 =E£9 =C8 [=B10*C10 |=B10+D10{=F9+ D10
11

a) What values must be entered into celis B1, B2, B4? Fill in on spreadsheet above

b) Which row must vou copy down fo in order fo calculate the closing

balance?

c) What values will be found in celis A9 to F9, and in celis A10 to F107 Fillin on

spreadshest above
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